Leaf Sweeper «

Instructions

Please read carefully before use and retain for future reference.

Part

Description

Quantity

QO

Handlebar

1

Handle support

Handle connector

Hopper crossbar

M5 washer

Hopper bag

Hopper frame side rod

Hopper frame base rod

Top frame connector

Hopper frame connector right

Hopper frame connector left

Sweeper body

Brushes

Support leg right

Support leg left

M5 locking nut

M5 x30mm bolt

cln|ls|lalc|s|B|—|~|[—|—|T|J|o|a|n|T

8mm x3/4in screw

[ R R =2 Y S S - Gy [P iy N JEIN [ NS} QSN N N NN I NS

ASSEMBLY

1.

. Attach assembled

Attach the handle supports

(b) to the handlebar (a)

using handle connectors
(), 2x M5 bolt (s) and 2x

M5 locking nut (r).

handle section to
the sweeper body
(m) by inserting
4x M5 bolts (s)
from the inside of
the sweeper body,
through the holes
on the bottom on
the assembled
handle section
and securing
using M5 washers
(e) and M5

locking nuts (r).

secure using 8mm x3/ain screws (u).

. Attached left and right supports legs (p & ) to the sweeper body (m) and

TOOLS REQUIRED (NOT SUPPLIED)

e Crosshead screwdriver
® 8mm spanner

4. Insert hopper frame side rod —
(h) into the sleeve top corner 4 )
of the hopper bag (g) with the
threaded end first. Repeat for
the other side.

5. Insert the hopper frame
base rod (i) into the sleeve
on the bottom of the N\
hopper bag (g). N

6. Connect the hopper frame side rods (h)
together using top frame connector (j).
Connect the hopper frame base rod (i)
to the assembled frame by connecting
hopper frame connector right (k) and
threaded end of hopper frame connector
left (I) to the threaded ends of the
hopper frame side rods (h). Connect
both connectors to the hopper frame
base rod (i) ensuring the shorter
horizontal fitting on the connectors are
facing outwards.

7. Attach the hopper crossbar (d) to the handle and assembled hopper ensuring
the hopper rods and the handle click securely into place with the clips on the
hopper crossbar (d). Ensure this is fitted correctly with the hopper rods
clipping into the hopper crossbar (b) from above. If assembled incorrectly, the
hopper can detach during use.

boopers

F STORTFORD



8. Press together the holes and pins at the top of the brushes (n) to form 4 sets.

9. Hold the assembled brush sets together and slide each set into the grooves on the
rotor until each set clicks into place.

10. Clip the assembled hopper into position on the handle and slot the connectors into
the recesses on the sweeper body (m).

BEFORE USE
e Periodically check that all nuts, bolts & screws are secure and tighten if necessary.
e Ensure the area of use is clear of obstructions before use.

o After an extended period without use, check all fixings are secure and check all
moving parts and lubricate if necessary.

e Set to the desired height using by loosening the knob on the front of the sweeper
body, adjusting height and re-tightening the knob.

DURING USE
* Take care to avoid injury to fingers when adjusting the machine.

e Take extra care when changing direction or working on a slope. Keep the machine
upright at all times.

e Adjust the height of the leaf sweeping brushes to the desired level. The lower settings
are suitable for all surfaces, the middle settings for wet, slippery or rough and loose
surfaces and the higher settings for maintenance and moving the Leaf Sweeper.

* Do NOT apply heavy downward force when operating. This will cause greater friction
to the ground and may cause damage to the brushes.

e \Where possible, operate down wind.

Head Office, 11 Bridge Street,
Bishop's Stortford CM23 2JU
Tel: 0844 482 4400

Fax: 01279 756595
www.coopersofstortford.co.uk

AFTER USE

e Empty leaf collection bag.

e (Clean after use.

o Allow leaf collection bag to dry before re-attaching.
e Store in a cool, dry place.

WARNING

e \Wear suitable eye protection during use.

e Wear suitable outdoor footwear.

e For outdoor use only.

® Keep away from children.

e Ensure work area is clear of obstructions before use.
e Do NOT run with the leaf sweeper when in use.

e Always push in a straight line in a forward direction.
* Do NOT use on steep slopes.

e \When using on a slope always push the Leaf Sweeper across the
slope rather than up or down the slope.

Do NOT use if damaged.
* Do NOT use to sweep up liquids.
e Do NOT attempt to repair the Leaf Sweeper yourself.

e Adjust the brush height if the brushes jam frequently or if the
sweeping performance is reduced.

 Not recommended for use on long grass over approx. 6cm
(2'/2in) in length.

e After an extended period without use, check all fixings are secure
and check all moving parts and lubricate if necessary.

CLEANING

® Brushes can be removed for cleaning and re-fitted as per the
assembly instructions.

* Wipe the hopper clean with a soft damp cloth.

e Periodically brush any leaf debris or mud from around the wheels
to prevent them locking.

PACKAGING
* Dispose of packaging at your local recycling centre.

* Dispose of paper and carton separately from plastic bags at your
local recycling centre.

e Dispose of item at the end of its lifespan at your local authorised
household waste recycling centre.

OF STORTFORD





<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


